7825 DORMITORY OR EXIT
7835 STOREROOM
7839 CLASSROOM SECURITY INTRUDER

DEADBOLT
7866 PRIVACY BEDROOM OR BATH

Vi /4

)
(BOED =~ >

PARTS LIST

PAGE REV.
B

07-2009

TEM [ PART

NO. | NUMBER DESCRIPTION QTY.
1 82-0083 [OUTSIDE FRONT STAMPED 1
2 | 82-0150 |AUTO LOCK INSERT 1
3 | 82-0700 |DEADBOLT 1
4 | 82-4172 |CYLINDER RETAINER 1
5 | 82-4177 |CASE ASSEMBLY 1
6 | 82-0171 [SPACER (CLASSROOM] 1
7 | 82-0149 [HUB CORE 1
8 | 82-0144 [SPRING (DEADBOLT) 1
9 | 82-0147 [DEADBOLT ARM 1
10 | 82-0133 |AUTO RETRACT LEVER 1
11 | 82-0251 |[DEADBOLT WASHER 1 |
12 | 82-0024 |MORTISE LOCK CAP 1
13 | 01-4402 |MACHINE SCREW (#8-32 x 5/16") 4
14 | 78-0008 [NON-HANDED HUB 2
15 | 78-0009 [NON-HANDED HUB SPACER 1
16 | 78-0286 [SPACER STOP 1
17 | 77-1060 [LATCH LEVER SPRING 1
18 | 78-0007 |[LATCH LEVER 1
19 | 82-3092 [LOCKING PIECE ASSEMBLY 1
20 | 82-0329 |UN-LOCK SPRING 1
21 | 82-3655 |LATCHBOLT ASSEMBLY 1 ki
22 | 01-1019 |MACHINE SCREW (#12-24 x 1/2) 2
23 | 01-2299 |WOOD SCREW (#12 x 1-1/4"] 2 °
24 | 01-1028 |MACHINE SCREW (#8-32 x 1/4") 2 SARGENT

ASSA ABLOY, the glabal leader in door opening solutions

ASSA ABLOY



	Sheet1
	Drawing View1


